8 T 6 5 4 3 2
*
*
*
*
™
(@]
o
r~
°
g5 _.
o ESHA
=z PART NUMBER LEGEND
== W AvFE TERY
TYPE OPTION CKT SIZE PLATING SCREW OPTION
87203 — * * * *
E —(
|
0: #4-40 UNCRL'IANwY K~ . (RS
— .Omm BEITTER T SRR ot only
#4-40 UNC thread rivet with fork board O: 9@ . .
3: #4-40 UNC BRUMITRU 2 A5S
lock for [Omm PCB 9CKT. . -
b M2.6 AL JAY 1215 0765 A 2 pcs ¥4-40 UNC \mmer thread screw assembled
5 .0mm EEIRRILREAT BeKkT,  F30-Tb2um Au 4 M2.6 BROMITIL 2hiE
M2.6 thread rivet with fork board 3:05 18 5:0.38 lum Au 2 pcs M2.6 inner fthread screw assembled
lock for [.0mm PCB 25CKT. 6:G0LD FLASH (0.lym Aw) 5: M3 RUMTRL 2 A%E
2: M3RRLUIIANY R~ 4:3778 2 pcs M3 Inner thread screw assembled
.Omm EERIISER NI "3IT7CKT 6:#4-40 UNC BRUIIIRL 2 XETHE
nghgeGd‘g‘Ve*PCWé*h fork board ’ 2 pcs #4-40 UNC inner thread screw attached
oc or 1.Omm P T M2.6 BRUMHTRAL 2 AEHE
6: #4-40 EL,JNC@UJ\AJF“ 2 pcs M2.6 inner thread screw attached
lL.emm BEERGISEENTS 8- . . &
#4-40 UNC thread rivet with fork board : M3 RUMTRL 2 AEHE
ce lock for Lemm 2 pcs M3 inner thread screw attached
= T: M2.6 QLAY ~ X
= l.emm EENIIbeE NI
a M2.6 thread rivet with fork board
w lock for Lemm PCB
= 8: M3RQL AWK
2 lL.emm EEHIIbERNT
F M3 thread rivet with fork board
e lock for l.emm PCB
o
o
B
(&)
o
—
)
= HE
z MATERIAL m/ole\ MOLEX-JAPAN CO.,LTD.
2 SEE NOTES NG BEELYIRHHAEH
O
g FII:NJ[:SI'_"I SEE NOTES REVISE ONLY ON CAD SYSTEM _
Z S EERE TITLE B 3
) % %E ANGLE  |«3e WIRE RANGE —+ D-SUB e
30 0.3 %
I BT MALEMMETAL SHELL |3
= 105hek 30 Bg | 08 DRAWN BY CHK'D,BY, 3
- |0ﬁg& 02| 0 Eﬁ%% ‘“0445’*%M “94/07/07 i oA /E/ SW DWG. NO. SHEET 2 of 2 |REV E
T 7 |APP'D - - S
cenema A ciances | TR | REVISION Ecor | i Al | 9&%5 ke 2- SDA-87203-*xxx | 0 B
THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARVVTO I{a.EX(JAPAN) AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION
ZRBEEBFELY IR () OMBIDBRESLENT BHDFTILSBARELELT D,
7 6 5 4 3 2

‘ EN-O‘IC(OSZ)MXJ-BZ

b=



